EARAZROREIERT — 2 N—XBISY —F 20175E3H23H () 21[@E4#A5H

Ll > %C11 144 C11-14 Y% ‘[ﬂi}% ‘Béiﬂélasﬁ] — | % @& 14000 2
[AE4£] 1% :160,000 ™ ~ 2#%:37,000 ™M  337%&:16,000 M  43&:12,000 537 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
AR IA o4 5721_?67%?1 1:(3_2).1 1-1-1-1 |39.6 | — 2 445 iﬁ%ﬂé (%#2)
LihNE— BNy aL AL b R it
5 NEEEPZE e H o4 E#EE% 1:32.4 4-4-4-4 | 39.4| — 1 439 ﬁﬁfg;ﬁ*ﬂ)
- . 11/2 »
L:Tv TRy b By w=CT7UIN ( ) -2 SRS
3 o| XA 71y b 4 g{l;?’éz (11312/27> 2-2-2-2 [40.1| — | 3 (5&0) l%é;ﬁi 7(%*;&){ 5
R:T7V1T743VYF— BT MIILY fre s RV e ]
4lglg| 7IT7RIY—> f 5 | BRRE 0 3098 (02| = | 5 | a5 |MEEA @0
QRIY—rb—O— F:eAaaTd—LK 5) | epagin
sl7] 7| n% roEFD Ho| gee V-l R R Rl o RN
L:¥rsn704 Bi¥xyXT7zA4T7— 1EHESS
cfe6| TNV bIT f 5 | fEs o 8686 (03| — | 6 | 46 | BMEEA @0
LT r—IUTL BRI M2) |y 2apsg
715l 5| FFrF—xF A3 it 5 ?’E%OEZ 1:(335).8 7-7-7-7 | 40.8| — 8 429 Eﬁ(%gfjgf;
RiAAYaTERY BTr—Urh5q U T
glalo £FO7 by THY 4 8 Egﬁsﬂﬁ 1:(377).2 6-6-6-8 |42.4| — 7 423 ﬁ%ii (1)
R:vY I by THY BT —LA LKy 8 |G =
s 4 KRR =] - - - - - — | EHEEA (&)
% 3| Tb>I—-L # 54.0 (B) -y | ®@) .TPN%;EH
R:77IWVTZ5T B:IIANLZ ESIIE e
® I—F—@EBIERL
|S=7r= 1,2,8,4,7,9,5,6
Ao=5"= 1,2,8,4,7,9,5,6
30—F+— 1,2,8,4,7,9,5,6
40 —F— 1,2,8,4,7,6,5,9
[ N5
B 1 210 794K 1-4 100M & 1-4 1004 JEE 1-2-4 130M
7 B 1 100 1-2 120 | | B5 & 1-4 130 | | 3EE 1-4-2 400/
4 100 2-4 120M B H 1-4 330M
2 100M

ABICOVWTRDTEEERROODE. TR LIV,



